AP R RENFET 5 (RI5) B 5 B #

RFG5E11H218 (KEER)
Fx ENSEfashE: 1968 b

(B ILHEREST)
BE ox e HIFE R (ko) 1 #Y3E Xt ERE |
a—F AH Y5 | EREE] | Biike) | &EM) | S{EFM) | REFE) | SEFA) | $EE) | R{EM)
13010072V A [y 12,130
130100|7 W A Tz 3,500 0 2,000 10 1,404 778
13010072V A & 2,385 0 2,380 10 1,296 324
130100|7 W A ®s 5,000 0 5,000 10 1,404 756
13010072V A RI& 470 0 0| 10
130340 ICA LA e 7,930
130340 ICA LA Ri& 7,070 0 7,070 10 2,700 972
130400| 1% 5 e 1,710
13040021 5 JbimE 610 610 10 2,700 1,296
1304001 5 5 800 800| 10 1,944 1,566
130600|1LA Z A iy 1,570
130600{1 A T A Ee 1,165 0 1,165 5 3,780 972
131100|H 3 iy 20,380
131100| B3 ZRIE 14,960 14,885 15 2,160 918
131100 B3 R 1,950 1,950 15 864
131700(%F v~ HE 35,410
131700|F v+ R EH 15,710 10,700{ 10 1,188 810
131700(%F v~ & 7,110 7,110 12 1,302 540
131700|F v+ R h3= 6,590 6,590 10 1,145 767
131800(I1F 53 A E HE 1,610
131800(IF S MAE & 450 310 104 0.2 130 70 103 70
131800(1F 5 WA E & 630 0 630| 0.18 81
131910|Fh & [y 1,347
131910|F & KR 11 0 11 0.045 63 62




131910(Fh & R 1L 445 0 445 1 756 324
131910|F R & BIE 280 25 245 5 1,080 4,320 1,458
131950(BE & ¥ 5,569

131950|H A& I 1,788 0 1,788 6 4,968 2,916
131950(BE & =SS 660 0 310 5 4,860 2,916
131950|H A& g 300 0 90 3 1,080
131950(BAh & BER 1,280 0 906 3 2,376 864
133400 L % X ¥ 12,917

133400|L % & I 2,237 0 2,148 10 1,944 1,080
133400 L % X 5B 8,330 0 7,960 10 2,376 1,836
133400|L % & wE 950 0 550 10 2,592 1,512
134100 (#A K ToE 9,480

134100|8A/X FE 240 0 240 5 1,782 972
134100 (#A K FN 310 0 285 5 1,674 864
134100|8A/X EiE 1,180 0 1,180 5 1,728 1,188
134100|8AM = A 769 0 309 5 3,726 3,143
134100|8A/X =y 6,465 0 5,515 5 6,102 4,482
134200|m /X TeE 1,690

134200|F /M timE 1,690 0 1,690 10 3,564 2,808
134300(71F ToE 8,666

134300|50F & 400 330 2 1,296 864
134300|30F = A 8,036 7,851 0.3 130 75
134300|50F & 230 207 0.3 151

134400| k< b ¥ 2,124

134400 b~ b BE 2,067 0 1,995 4 1,728 1,296
134500 &' —~ >~ ¥ 5,829

134500 "=~ ~ = Al 720 630 0.15 59 54
134500 &' —~ > PN 90 90( 0.15 27

134500 "—~ ~ =y e 3,332 2,630( 0.13 54 43
135100| W A I A ¥ 104




135100 WA F A =N 14 14 2 2,376 2,052
135100| W A LT A BEIR 70 70 2 1,404 1,350
135200|%= ¥ 34

135200|%= ANER L 34 34 2 3,240 2,160
136100[HA L & ¥ 19,115

136100(AA L & I 8,655 8,655 5 3,780 1,188
1361001 A L & & 2,935 2,495 5 4,050 2,052
136100(AA L & R 5,190 5,190 5 2,160 864
136200|%inE ¥ 2,000

136200|E 5% time 2,000 2,000 10 1,339 1,274
136210| X —27 4 >~ ¥ 24,200

136210( X —7 1 ~ time 24,200 24,200 10 1,944 259
136300| 2% ¥ 1,490

136300(E3 i 1,290 1,290 10 2,376 1,620
136600|7- & ¥ 19,250

136600|7z & JuiBE 11,410 11,410 20 4,374
136600|7- A & BE 7,800 7,500 10 5,238 2,160
138100({& L W /o lF ¥ 1,186

138100|& L W7zl fig 1Ly 175 175 0.2 86
138100(& L W /o ld BE 895 865 0.2 270 97
138500| L& LE ¥ 1,097

138500(L® LE g 1,028 767 0.2 186 176




AP R RENFET 5 (RI5) B 5 B #

RFG5E11H218 (KEER)
LSS ST E 402 kv

(B ILHEREST)
BE ox e MR (k) 1% #YFE RS E]
a—F AH Y5 | EREE] | Biike) | &EM) | S{EFM) | REFE) | SEFA) | $EE) | R{EM)
240400| B EBINAD A [HoEK 33,372
240400| R4 EINAN A | FFRWL 22,284 0| 22284 10 9,180 3,672
240400(BEBMANA | B 5,098 0 5,098 10 3,240 1,512
240400| BEBMAN A | BIE 5,990 0 4,180 10 2,268 972
2428303 LW AT Eoe= 2,760
242830|.5 LW AT 55 700 0 700 10 3,240 2,160
243610|2 B & Eoe= 545
243610|2 B & =R 545 545 0 7.5 2,808 1,512
243700 L .3 Eoe= 1,018
243700 L .33#% sy 1,000 510 490 10 918 324 1,944 540
2437T40|BE M & Eoe= 1,360
243740| BB H & r= 1,360 560 320 10 864 540 1,944 1,620
243770| %M & Eoe= 105
243770|FaE%h & it 1Ly 105 0 105 0.5 216 130
245230|BElERE S Eoe= 11
245230|BEEE S =% 11 0 0f 0.35
246000({\ 5B & Eoe= 510
246000|L B & H 20 20 0.3 972
246000({\ 5B & & 140 591 0.27 1,080 540
246000|L B & K& 350 3151 0.25 918 486
247100| 7 —L 2 X Oy [ 508
247100| 7 — LR A AV B4 250 250 9 14,040 5,400
247100| 77—/ R A A v Syl 259 250 10 9,720 5,940




